Audition

Principal Oboe
May 8, 2022

Instructions for video

Please record a video of:

Mozart concerto first movement and orchestral excerpts in the spe-
cificorderof No. 1,5 & 2.

The video should be recorded in full body and with best possible
sound quality on your device and filmed in one shot.

One seperate video of Mozart and one for the exerpts will be
accepted. Cuts or adjustments are not allowed

Mozart should be performed with piano accompaniment, either
recorded with pianist or with downloaded accompaniment.
Please tune to: A=442 Hz

Repertoire

Mozart Oboe Concerto

1 Brahms Violin Concerto

2 Rossini La Scala di Seta

3 Shostakovich Symphony No. 1, 3rd mvt
4a Brahms Symphony No. 1, 1st mvt
4b Brahms Symphony No. 1, 2nd mvt

5 Ravel Le Tombeau de Couperin, I1st mvt
6 R. Strauss Don Juan

7a  Tchaikovsky Symphony No. 4, 2nd mvt
7b  Tchaikovsky Symphony No. 4, 3rd mvt
8a Stravinsky Pulcinella Suite, Serenata
8b Stravinsky Pulcinella Suite, Variation 1a
9 Schubert Symphony No. 9, 2nd mvt
10 Mendelssohn Symphony No. 3, 2nd mvt
1 Beethoven Symphony No. 3, 2nd mvt
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Violin Concerto
[l. Adagio
Johannes Brahms
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Atlegro vivace Andantino

La Scala di Seta

Gioacchino Rossini
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Symphony No. 1

[ll. Lento

Dmitri Shostakovich
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Symphony No. 1
[. Un poco sostenuto
Johannes Brahms
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Le Tombeau de Couperin

Maurice Ravel

l. Prélude

=92

Vif. o

el
11

—ad

o]

/) #

A\V 4

HAUTBOIS

) d - .

"Mul :
I sadp

-

N
y 2]

N &,
T

[y
V'

T

.
o

13

-

HAUTB.

f) ¥

i A\y?

=




Don Juan
Richard Strauss

a fempo,ma tranquillo
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Andantino in modo di canzona

Symphony No. 4

[l. Andantino in modo di canzona

Pyotr Tchaikovsky
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2. Serenata

54 - 56
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Schubert — Symphony No. 9

Oboe I

Andante con moto
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Vivace non troppo.
2

Mendelssohn — Symphony No. 3

OBOE I
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Oboe 1

Beethoven
Symphony No. 3

Marcia funebre
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